C:# Addition With Tape Diagram Name:

Solve each problem. Answers
1) Kristine had $25 and Tiffany had $35. If they combined their money, how much would
they have? 1.
2.
3.
2) A grocery store had 48 bottles of regular soda and 38 bottles of diet soda. How many
bottles did they have total ? 4
5.
6.
3) Henry owned 19 baseball cards. For his birthday he got 47 more. How many cards does
Henry have total?
7.

4) While exercising Sam did 45 push-ups in the morning and 25 more in the afternoon. How
many push-ups did Sam do total ?

5) Tom was playing basketball with his friend. Tom scored 45 points and his friend scored 18
points. How many points did they score total ?

6) Carol received 25 text messages before noon and another 48 after noon. How many text
messages did Carol receive total ?

7) There were 16 peoplein line at lunch when 24 more got in line. How many people were
theretotal in line?
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Addition With Tape Diagram

Name:

Answer Key

Solve each problem.

1)

2)

3)

4)

5)

6)

7)
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Kristine had $25 and Tiffany had $35. If they combined their money, how much would

they have?

?
N\

25 |

35

A grocery store had 48 bottles of regular soda and 38 bottles of diet soda. How many

bottles did they have total ?

?
N\

48

38

Henry owned 19 baseball cards. For his birthday he got 47 more. How many cards does

Henry have total?

?
N\

19 |

a7

While exercising Sam did 45 push-ups in the morning and 25 more in the afternoon. How

many push-ups did Sam do total ?
?
N

45

25

Tom was playing basketball with his friend. Tom scored 45 points and his friend scored 18

points. How many points did they score total ?

?
N\

45

18

Carol received 25 text messages before noon and another 48 after noon. How many text

messages did Carol receive total ?
?
A

25 |

48

There were 16 peoplein line at lunch when 24 more got in line. How many people were

there total in line?

?
N\

16

24

Answers
1, 60
2, 86
3, 66
4, 70
5. 63
6. 73
7 40
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